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Appendix E:  Financial Summary Calculations
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Total PV Investment Costs
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Total PV O&M Costs
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53,281
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176,297
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Total Present Value Benefits

B
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(123,016)
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Total PV System Savings
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(4,244)
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Total PV Mission Savings

b2
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114,299
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Net Present Value

B-A

N/A

(299,312)

$         

 

47,943

$       

 

Benefit Cost Ratio

B/a1

N/A

N/A

24.00

Return on Investment

(B/a1) -1

N/A

N/A

2300%

Payback Period (years)

*

N/A

N/A

2.02


The following table explains the calculations used to determine the financial metrics.

Net Present Value:  This is the present value of the costs minus the present value of the benefits.

Benefit Cost Ratio:  This is derived by dividing the present value benefits by the present value investment costs 

Return on Investment:  This is derived by dividing the present value benefits by the present value investment costs and subtracting one from this sum.  This number then represents the true return on the investment.  For example for every dollar invested a $23 is realized (in addition to the dollar invested).  If the one is not subtracted this would illustrate that for every dollar invested that dollar is returned in addition to another $23 or an ROI of 24 (2400%)

Payback Period:  This is derived by calculating the cumulative benefit as presented in the figure below.  The cumulative benefits are based on the cost investment and benefit streams.
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The payback period is realized when the cumulative benefit becomes positive.  This occurs in FY03.  The exact number of months is calculated as follows:
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